Add & subtract:

Year 2

» 2-digit numbers & ones

15+43=

45 -4 =

81+5=

100-5=

23-1=

62+7=

95 -3 =

2+35=

» 2-digit numbers & tens

65+ 30 =

17-10=

26+70=

90 - 60 =

» two 2-digit numbers

12 + 41 =

53— 41 =

72 +15 =

88 - 26 =

35-10=

78 +20 =

84 - 40 =

14 +80 =

68 -32 =

42 +22 =

29-11=

35+34=

» three 1-digit numbers

3+45+2=

Q+1+1=

6+2+8=

3+47+3=

6+6+4=

1+3+3=

8+4+2=

54547=

3+25=

20-9=

47 +2 =

58 -4 =

32+20=

53-30=

51+40 =

99 - 40 =

27 +22 =

76 - 36 =

53+36=

84 - 43 =

4+143=

Q+8+7=

4+7+2=

1+45+2=




